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The sides are 11 feet, 13 feet, and 15 feet.
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. a) f(3):% b) f(4+b)=

. 2X+h-3

y_ 3,7
4 4

x=+/2

. The length is 11 cm, width 5 cm.
13+ V3i

. Vertex (-2,1)

Opens down

Intercepts (0,-3),(-3,0),(-1,0)

(Xx=3)(x-2)
' X
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19. (—oo,O)u(g,ooJ
3
20. (2,4]
21. a) Domain [-4,0)U(0,2)U(2,x)
b) Range (0,x)
c) f(3)=2
d) f(-1)=1 f@)=1 f(4)=1
22. {+3,+ 8]
1\ 1
23. @) log, (9)=-2 b) log,(32)=5 c) |og,27(§j=—§
3
24. a) 2.4 b) 1.8 c) -0.8
25. {8}
26. —x2—3x—6+——
X—2
27. Iogz(%j<sin(6.3)< cos(6.3)<%
28. a) (—@) b) 140°
T
_ Ve
29. x = sin(38°)
30. The speed of the boat in still water is 19 mph.



